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ABC DATA SHEET

Co-funded by
the European Union

Instructions: The ABC data sheet helps a teacher to determine the reason the problem behaviour is occurring by looking at events happening before and after the behaviour. For each behaviour
incident, write down date and time, as well as location where the problem behaviour happened. In each section (setting events, antecedent, behaviour, and consequences, check the box [ that
corresponds to what happened at that moment. Use the information you collected to determine the likely function of the behaviour, by looking at re-occurring antecedents and consequences of
the behaviour.
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